Review Q & A - Dec. 13

Exam Review Q&A
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Assume a model consisting of the following components (where A1, I1, G1, and G2 are some valid
predicates referring to the declared constants and/or variables):

e An axiom: A1 K {he Mﬂﬁqe @\/ &Z
e Aninvariant: 11 X },@F’t
¢ An event e1 with guard: C.§1 F M lfP Awg él Z
¢ An event e2 with guard: G2 \7L Pw f V ) ‘/
A C (A
Consider each of the following 9 possible changes, introduced to the above model, in isolation

. Adding a new axiom A2 (where A2 is a valid predicate)

. Changing event el's guard to "G1 & P" (where P is some valid predicate)

. Changing event e1's guard to "G1 or P" (where P is some valid predicate)

. Removing axiom A1

. Removing e2's guard G2 (so that it has no guard)

. Adding a new, second guard G2' (where G2'is a valid predicate) to event e2
. Adding a new invariant 12 (where 12 is a valid predicate)

. Adding a new event e3 with guard G3 (where G3 is a valid predicate)

. Removing invariant 11
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